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There are 15 birds in one tree. Two of the birds flew away. How many birds are left on the tree?
15-2 =

14

13

10

8



Try Again



Correct
Go to the Next Question




2.1 have 18 yellow markers and 5 blue markers. How many more yellow markers do | have?
18-5=__

A.23

B.16

C.13

D.10
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Correct
Go to the Next Question




3. There were 20 flowers in the yard. Sophia picked 5 of them. How many flowers are in the yard?
20-5=

15
25
18
10
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Try Again



Correct
Go to the Next Question




4. Subtract the following numbers
18-2=
A. 15
B. 16
C. 8
D

10



Try Again



Correct
Go to the Next Question




5. Subtract the following numbers
19-4=

A.

OO0

15
24
10
9



Try Again



Correct



